Apartment in St Julian's



Reference No: 240221028-1860

St Julian's, Sliema and St Julians Surroundings



€565,000

Total Rooms: 6

Bathrooms: 2

Floor Area (m²): 97

Bedrooms: 2

Apartment - For Sale - St Julian's

ST JULIAN'S - A highly finished 2 bedroom ground floor Apartment, situated in a very desirable location and a minute walk from Ballutta bay. This luxury property comprises of a hallway, combined Living / Dining room, Kitchen with appliances, 2 bedrooms (main with ensuite shower), main bathroom and a yard. Being offered fully furnished and airconditioned, freehold and with an interconnecting optional 1-2 car spaces. Ideal for somebody who wants to downsize and extremely close to the seafront. Call a Remax agent for viewings.

Features

- ✓ Kitchen/Dinette
- ✓ Video Hall Porter
- Entrance Hall
- Electricity Utility
- Gypsum Plastering
- ✓ A/C
- Double Glazed
- Yard

- Ceramic Floor
- En Suite
- Water Utility
- Soffit Ceilings
- Towel Warmers
- Skirting
- Partially Furnished

Rooms

- ✓ Kitchen: 3.9 x 2.3 m (8.97 m2)
- Living/Dining: 5.4 x 5.3 m (28.62 m2)
- ✓ Single Bedroom : 3.1 x 2.9 m (8.99 m2)
- Double Bedroom : 4.1 x 3.6 m (14.76 m2)
- ✓ Shower: 2.9 x 1.8 m (5.22 m2)
- Shower Ensuite : 2.9 x 1.1 m (3.19 m2)
- ✓ Hallway: 5.4 x 1.3 m (7.02 m2)
- Open Space : 6.7 x 1 m (6.7 m2)

Gallery





























Manuel Borg RE/MAX Excellence - Piazzetta

M: 79494425

E: manuel@remax.com.mt

T: 21341341

RE/MAX Excellence - Piazzetta 114B,Tower Road, Sliema, Malta